H & 0l & AHS B Ml A

SN A D
mE: c2AlEe)

SR NZsHERZEHEY (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
rafain; 39,770,580 26,669,206 13,101,374
= 11,985,994
[ 35,000
= 6,779,000
Al 9,972,436
H 10,998,150
C2AIE 2L 14,014,285 13,202,890 811,3%
= 335,100
Al 4,349,185
H 9,330,000
NZSHEEZEZY 2,375,000 2,085,000 290,000
Al 1,395,000
H 980,000
S0t ZA-NME2t S22 TS IAL 980,000 130,000 850,000
H 980,000
401 Al HIZL 201 980,000 130,000 850,000
H 980,000
01 A28l 980,000 130,000 850,000
O=0t Z2e~NE2 2 EHE 980,000
H 980,000
DIESXNMHLHI(AZESHEER) 100,000 100,000 0
401 Al HIZ S OHbI 100,000 100,000
01 A28l 100,000 100,000
O0IZ28X HHI(243) 100,000
NS H-FEY 2L H 190,000 0 190,000
401 AIEHIZ R 0HYI 190,000 0 190,000
01 Al&HI 190,000 0 190,000
O0lgs oi-2E2t C23Ly 190,000
OHLEZ~A2tER E2 SHEFZTAL 300,000 0 300,000
401 Al HIZ 2018 300,000 0 300,000
01 Al&H| 300,000 0 300,000
OdtLtZ~atE C2S RS 300,000
2= L 2SN =2 SHEESA 300,000 100,000 200,000
401 Al HIZ S OHbI 300,000 100,000 200,000
01 AlZ2H| 300,000 100,000 200,000
O2= S2LS-2E232 T2HEFTA 300,000
EX Q8M 2ELH 500,000 0 500,000
401 Al HIZL S 0HYI 500,000 0 500,000
01 Al&HI 500,000 0 500,000
OFX Q8H 21y 500,000
ANZSHEZZ SHETAIY =& 5,000 5,000 0
401 AIZHIZL S HY 5,000 5,000 0




SN A D
mE: c2AlEe)

=Rl AZSHEZZSRY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 5,000 5,000 0
OANZSHEZZ SEIAIY =X 5,000
Fo =2 32,920 32,920 0
TR =JAAH 32,920 32,920 0
202 04dl 31,920 31,920 0
01 2L AL 31,920 31,920 0
OHLHY Y C2VY YDXX
140,000« 19 122 31,920
203 gF=4| 1,000 1,000
03 A=A 2= 1,000 1,000
Od&L AR 1,000
ws2eIHEAS 943,000 630,000 313,000
= 300,000
Al 643,000
a4 aeld E2RRNEAMS 343,000 100,000 243,000
401 AIEHIX R0 343,000 100,000 243,000
01 A28l 343,000 100,000 243,000
O&Y &ald T2 IINEAY 343,000
2S5 MU JEIH(HEAY) 200,000 80,000 120,000
< 100,000
Al 100,000
401 Al HIZL S 0HYI 200,000 80,000 120,000
& 100,000
Al 100,000
01 Al&H| 200,000 80,000 120,000
Ogs ot T2 SN 200,000
= 100,000
Al 100,000
2dEH HYISAME & AHUHZ EXSA 400,000 0 400,000
s 200,000
Al 200,000
401 AIEHIZ SR OHYI 400,000 0 400,000
[ 200,000
Al 200,000
01 Al&HI 400,000 0 400,000
O2dH HHSKHEH & SIMuIE HX
SAt 400,000
= 200,000
Al 200,000
ATRF=FAY 2,196,365 4,254,970 /2,068,605
A2 0= ALY 591,365 739,220 A147,855
401 Al HIZ S OHbI 591,365 739,220 A147,855
01 AlZ2H| 591,365 739,220 147,855
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2A:

X XH -
o=

rar=;
S22 A4 2L

el A2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IEEZHH 117,000 0 117,000
= 35,100
Al 81,900
a1 D10 AnE A 117,000 0 117,000
= 35,100
Al 81,900
401 Al HIZ S OHbI 117,000 0 117,000
=S 35,100
Al 81,900
01 AlZ8| 117,000 0 117,000
O# e |IA0ES AwE EHl ArY 117,000
< 35,100
Al 81,900
=2 =22 F 8,350,000 6,200,000 2,150,000
H 8,350,000
25278 USRI CZ2(M~BE2)HE SA 2,650,000 6,200,000 A3,550,000
H 2,650,000
401 AIEHIX R0 2,650,000 6,200,000 3,550,000
H 2,650,000
01 Al&HI 2,650,000 6,200,000 3,550,000
O=22275 HHMRISZ2(M~EE2)HL
SAt 2,650,000
H 2,650,000
25278 HHSRAEZ2(M=~BE)HESA 5,700,000 0 5,700,000
H 5,700,000
401 Al HIZ S OHbI 5,700,000 0 5,700,000
H 5,700,000
01 Al&H| 5,700,000 0 5,700,000
O=2&2r5 M2 (M=EE) AL
SAt 5,700,000
H 5,700,000
ote EH| 25,623,561 13,334,925 12,288,636
= 11,937,994
= 35,000
< 6,443,900
Al 5,538,517
H 1,668,150
ol dHl & =Al2cl 25,623,561 13,334,925 12,288,636
= 11,937,994
= 35,000
== 6,443,900
Al 5,538,517
H 1,668,150




SA AL
ZE: SHEFY
Chel: ofd EHHl ¥ sAl2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
XLt TH(SHA) (HEAIY) 6,177,000 3,000,000 3,177,000
= 4,323,900
Al 184,950
H 1,668,150
401 Al HIZL S 0HYI 6,177,000 3,000,000 3,177,000
< 4,323,900
Al 184,950
H 1,668,150
01 AlZ28| 5,560,500 2,495,510 3,064,990
OSHA ote&d ZHIAY (L=3.06km) 5,560,500
< 3,892,350
H 1,668,150
02 Zeltl 600,000 500,000 100,000
OSHA otd2tE FHIAY 600,000
= 420,000
Al 180,000
03 Al S THYI 16,500 4,490 12,010
OSHA otd2td FHIAY 16,500
s 11,550
Al 4,950
NSt EH (A ) (M EAY) 1,000,000 0 1,000,000
= 700,000
Al 300,000
401 Al HIZL 201 1,000,000 0 1,000,000
= 700,000
Al 300,000
01 Al&H| 1,000,000 0 1,000,000
OXgstd EbI (2 aHd) 1,000,000
= 700,000
Al 300,000
NYStEEHI (B ) (D EAY) 900,000 0 900,000
[ 630,000
Al 270,000
401 Al HIZL 201 900,000 0 900,000
= 630,000
Al 270,000
01 Al&HI 900,000 0 900,000
OXgstEHI(Ed) 900,000
= 630,000
Al 270,000
ASHEFHI(ALE) (M EANY) 110,000 110,000
401 Al HIZ R 0HbI 110,000 110,000
01 AlZ28| 110,000 110,000




A AL
A S|
Chel: ofd EHHl ¥ sAl2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IEESEETER 110,000
ABHEZHI (2241 (HEAR) 600,000 1,200,000 600,000
401 Al&2HI L= Chb| 600,000 1,200,000 600,000
01 AlgH] 598,000 1,197,000 599,000
O”2AA3HH FHIZA 598,000
03 Al&=CHb| 2,000 3,000 A1,000
OBAA3IE BHIZA 2,000
A1 EHI (28 (HEAIR) 890,000 0 890,000
401 Al&2HI L= Chb| 890,000 890,000
01 Al&H| 890,000 890,000
OASABIE FHIZAL 890,000
OIBIA5IE NOBNPIENEKR HHIAY 1,400,000 0 1,400,000
= 700,000
= 280,000
Al 420,000
401 Al&2HI L= Chb| 1,400,000 0 1,400,000
= 700,000
= 280,000
Al 420,000
01 Al&H| 1,395,000 0 1,395,000
Oeist431E TMBHABMNLXI T &b
= 1,395,000
2 697,500
= 279,000
Al 418,500
03 Al&=CHb| 5,000 0 5,000
OelstA31E TAMBHABMNLXI T &b
= 5,000
= 2,500
= 1,000
Al 1,500
ADIE HSRRIALE DH At 70,000 0 70,000
2 3,000
Al 3,000
401 Al&2HI L= Chb| 70,000 0 70,000
2 3,000
Al 3,000
01 AlgH] 70,000 0 70,000
OADIE HSTD2ANAE TS AL 70,000
2 3,000
Al 3,000
AMH NYSHH +HBRBA 91,412 0 91,412
2 91,412




S AL
I ot E|
=el: ol EHl ¥ |2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 91,412 91,412
= 91,412
01 AlZ8| 91,412 91,412
OstA Kot oSS At 91,412
= 91,412
gSH NYotd oS SA 399,023 399,023
= 399,023
401 Al HIZ 2018 399,023 399,023
= 399,023
01 Al&HI 399,023 399,023
Ogdsd Xdotd =oi=7SAt 399,023
= 399,023
A Xdotd oSS A 69,870 69,870
= 69,870
401 Al HIZ 01| 69,870 69,870
= 69,870
01 Al&H| 69,870 69,870
OEd Xeotd oS3 At 69,870
= 69,870
JE Kot ol =S At 1,914,992 1,914,992
= 1,914,992
401 A& HIX R0 1,914,992 1,914,992
= 1,914,992
01 Al&HI 1,914,992 1,914,992
OJIgd Ngotd =S A 1,914,992
= 1,914,992
ASHE XL (HEL) S=HEFRSA 283,760 283,760
= 283,760
401 AIZHIX S0 283,760 283,760
= 283,760
01 Al&H| 283,760 283,760
Obr=d XYt (HED) =HS7 SAt 283,760
= 283,760
A=A, HEAX T XYGHE o= RS At 589,330 589,330
= 589,330
401 Al HIZ S 0HbI 589,330 589,330
= 589,330
01 Al&H| 589,330 589,330
Oatsd, AKX+ NLotE o=+
SAt 589,330
= 589,330
ASE XEotd SoiS723AH & HE S 6,226,797 6,226,797
= 6,226,797




SA AL
ZE: SHEFY
Chel: ofd EHHl ¥ sAl2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 6,226,797 6,226,797
2 6,226,797
01 Al 6,210,797 6,210,797
OUZE XYoHE SHERTA L K
=+ 6,210,797
= 6,210,797
03 AlESTHYI 16,000 16,000
OIS XL SH=TRA L A
=+ 16,000
= 16,000
U™ XYotd ol STSAt 52,358 52,358
= 52,358
401 Al HIZ S 0HHI 52,358 52,358
= 52,358
01 Al&H| 52,358 52,358
OUtEd Xlgotd oS3 At 52,358
= 52,358
S& KYotd ol =SFSA 62,786 62,786
= 62,786
401 A& HIX R0 62,786 62,786
= 62,786
01 Al&HI 62,786 62,786
O&d Ngotd o523 A 62,786
= 62,786
SHEA NYotd soisSSAH 72,296 72,296
= 72,296
401 AlEHIZ 201 72,296 72,296
= 72,296
01 Al&H| 72,296 72,296
O=SdEHE XNLotd =S A 72,296
= 72,296
S XNLotd =oi=sTASA 498,683 498,683
= 498,683
401 Al HIZ S OHbI 498,683 498,683
= 498,683
01 Al&H| 498,683 498,683
Oggd Ngotd al=SSAt 498,683
= 498,683
CHAGH ollS2SA 20,206 20,206
= 20,206
401 AlZHIZ SO 20,206 20,206
= 20,206
01 Al&H| 20,206 20,206




M AL
ma: slEEy|
=el: ol EHl ¥ |2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSHASIA +al= T BA 20,206
= 20,206
I LAMLGHE =R ZA 24,219 24,219
= 24,219
401 AIEHIZL 2 OHYI 24,219 24,219
= 24,219
01 AlIEHI 24,219 24,219
O 5H LH=PTAI 24,219
= 24,219
AZACHE o= FRSA 20,238 20,238
= 20,238
401 AIEHIZL SR OHYI 20,238 20,238
= 20,238
01 AlIZHI 20,238 20,238
OUFABIA +eH=STBA 20,238
= 20,238
QIFACHE o= FRSA 21,269 21,269
= 21,269
401 AIEHIZ S OHLI 21,269 21,269
= 21,269
01 AlZHI 21,269 21,269
S4B LBH=TIA 21,269
= 21,269
SR ASHE LAH=TRA 22,69 2,63
= 22,693
401 AIEHIZL S OHEI 22,693 22,693
= 22,693
01 Al&Hl 22,693 22,693
OBI2ASIA +H=STBA 2,69
= 22,693
HA=A0tE oS SA 20,348 20,348
= 20,348
401 AIEHIZL SO 20,348 20,348
= 20,348
01 Al&Hl 20,348 20,348
SH A0 FHSTABA 20,348
= 20,348
SHAAGHE oSS A 21,743 21,743
= 21,743
401 AlIEHIZL 2 0HY| 21,743 21,743
= 21,743
01 Al&HI 21,743 21,743




SA: 2A8D
HM: I
=el: ol EHl ¥ |2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSHHATIE £oHBRSAL 21,743
2 21,743
NESBAGHE SoHSRSA 20,552 0 20,552
= 20,552
401 Al HIZL 2L 20,552 0 20,552
2 20,552
01 AlZH] 20,552 0 20,552
OMEBAGIE =R TA 20,552
2 20,552
WHASHE =PI 20,673 0 20,673
= 20,673
401 AlZHIZL 2 OHHI 20,673 0 20,673
2 20,673
01 AlZH] 20,673 0 20,673
OB AT 2SR SA 20,673
2 20,673
SIEASHE Sol=EPSA 20,242 0 20,242
= 20,242
O NEEEEE] 20,242 0 20,242
2 20,242
01 AlZH] 20,242 0 20,242
OStEAGHE SoHERIA 20,242
2 20,242
WEASHE FoH=EPSA 21,239 0 21,239
= 21,239
401 AlEHIZ S OHHI 21,239 0 21,239
2 21,239
01 AlZH] 21,239 0 21,239
ORSAGHE SH=SFSA 21,239
2 21,239
CESHIEEINI=RHONM ) 1,610,075 2,105,980 A495,905
101 121] 107,498 320,723 213,225
M IRIM22XS2S 107,498 320,723 213,225
O20t6td &4l SATUI(ME L 01xX)
ol 60,2402 *4%5 * 140 33,73
OFHHAILS (XY, 25Hd) SAFHI(M=
EINGIE I =T 115,254 2 x4 21602 73,763
201 Ler2 | 31,077 3,757 24,680
01 AtR2elt| 21,900 26,580 4,680
Odtd HEAEE XA HE
60,0002 x55¢ A 300
OBtESAIL SHBX L FAIHRISX
S0 R 70,0002 100H 700
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